IB Math HL 2: Chapter 15 IB Questions #2
	1
	[image: ]

	
2
	

	[bookmark: _GoBack]

	[image: ]




image1.png
[Maximum mark: 22]

(a) Show that the points 0(0.0,0). A(6.0,0), B(s,—Jﬁ M) c(o,—\/ﬁ«/ﬁj form

a square. Bl
(b)  Find the coordinates of M, the mid-point of [OB]. ek
(c) Show that an equation of the plane /7 , containing the square OABC, is y+y2z=0.  [3]
(d) Find a vector equation of the line L, through M, perpendicular to the plane 17 el

(e) Find the coordinates of D, the point of intersection of the line L with the plane whose
equation is y=0 Bl

(®  Find the coordinates of E, the reflection of the point D in the plane /7 el
(® () Findtheangle ODA

(i) State what this tells you about the solid OABCDE. [6]
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Two lines 1, and 1, are given respectively by the equations 5, =
where OA=i+2j+3k, v=i+j+k, OB=2i+j—k, w

A+ v and r, =OB +uw
j+2k and O is the origin

Let P be a point on /; and let Q be a point on I,
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Find PQ, in terms of 7 and 41

Find the value of 7 and the value of 4 for which PQ is perpendicular to the direction
vectors of both J; and

Hence find the shortest distance between J; and I,

Find the Cartesian equation of the plane 7, which contains line /, and is parallel to the
direction vector of line I,

Let OT = OB+ 7 (vxw)
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Find the value of 7 for which the point T lies in the plane I7.

For this value of 7, calculate BT ‘

State what you notice about your answers to (c) and (f), and give a geometrical
interpretation of this result
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